
Lecture 7 - January 28

Asymptotic Analysis of Algorithms, 
Arrays and Linked Lists

Deriving Upper Bounds from Code
Inserting into an Array
Sorting Orders



Announcements/Reminders

• Assignment 1 solution to be released soon
• splitArrayHarder: an extended version released
• Office Hours: 3pm to 4pm, Mon/Tue/Wed/Thu
• Contact Information of TAs on common eClass site
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Determining the Asymptotic Upper Bound (3.1)
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Determining the Asymptotic Upper Bound (3.2)
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Determining the Asymptotic Upper Bound (4)
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Determining the Asymptotic Upper Bound (5)
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Asymptotic Upper Bound: Arithmetic Sequence/Progression
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Inserting into an Array

Example: 
insertAt({alan, mark, tom}, 3, jim, 0)

0 1 2a

result 0 1 2 3

Example: 
insertAt({alan, mark, tom}, 3, jim, 1)

0 1 2a

result 0 1 2 3

Exercise: insertAt({alan, mark, tom}, 3, jim, 3)
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Sorting Orders of Arrays
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